For each of the following vector fields F type in a potential function f (that is, 
C. [image: image1.png]



[image: image2.png]




 HTMLCONTROL Forms.HTML:Text.1 [image: image3.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image4.wmf]

0


D. [image: image5.png]= (2siny)i+ (4y + 2z cosy





[image: image6.png]




 HTMLCONTROL Forms.HTML:Text.1 [image: image7.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image8.wmf]


E. [image: image9.png]Lz) =24 j
) =214 2y° )+ 527k





[image: image10.png]




 HTMLCONTROL Forms.HTML:Text.1 [image: image11.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image12.wmf]


_1174933808.unknown

_1174933809.unknown

_1174933806.unknown

_1174933807.unknown

_1174933805.unknown

_1174933803.unknown

